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Instructions

ENGLISH VERSION

(1) As per the instruction no. 1 of page no. 1

(2) Answer all the questions.

(3) Graph paper, Logarithmic and Statistical tables will be provided on request.

(4) Figures to the right indicate full marks of the question.

(5) Simple calculator can be used.

(D
(2)

(3
“

&)

(b)

Answer the following questions in short: 10

State the characteristics of Index Number.

From the following data, find Laspereyer’s and Pasche’s Index Number.

2P 90 = 622, 2P090 =604, 2.P 9 =832, 22P09 = 764.
What 1s level of significant?

A coin 1s tossed 1000 times and head is received 560 times. [s the coin

unbiased?

The correlation co-efficient for a sample of 100 pairs 1s 0.65. Is the value of
correlation co-efficient significant?

What is Index Number? State its uses. (5)
Calculate Laspeyer’s, Pasche’s Bowley’s and Fisher’s Index Number. (5)
- Base Year Current Year
Commodities : : : .
Price Quantity Price Quantity
A 5 60 8 50
B 3 100 5 110
C 10 40 15 50
D 8 30 10 30
E 12 50 15 40

(c) Calculate appropriate Index Number from the following data:
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.. Year 2008 Year 2009
Commodities - : -
Price Quantity Price
A 100 01 130
B 150 0.5 180
C 435 0.25 534
D 120 0.5 150
E 80 1.0 120
OR
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Explain construction of cost of living Index Number. Also state its limitations (5)

Calculate Fisher’s Index Number from the following data and show that it
satisfies the time reversal test:

Commodities . Base Year . Current Year .
Price Quantity Price Quantity
A 12 10 20 11
B 4 20 4 24
C 8 12 12 12
D 20 6 24 5
E 16 8 24 7

)

Explain the method of fixed base year and chain base year in construction

of Index Number.

3)

Explain the method to test the significance difference between the
proportion of two attribute in two large sample.

)

The means of two samples of size 1000 and 2000 are respectively 70 and 69.8
can the samples be drawn from the population having standard deviation 3? (5)

Explain the following terms:

(1) Standard error (2) Type-I error and Type-II error

OR

3)

Explain the method of testing the significance difference between means
of two large samples of variables.

S)

400 males of a certain city possess vehicles and the sample size is 600. The
sample of 900 males was selected from the other city and 450 males possess
vehicles in it. Is the difference between the two proportion significant? (5)

Explain the testing of significance of number of success in large attribute

sample.

Answer any three of the following:

Explain Net Production method to estimate National Income.

State the usefulness of National Income.

State difficulties arised to estimate National Income.

3)

(14)

The standard deviation of population is 12. From that a sample of size 400 is
taken and its mean is 30. “Population mean is 35 testing this hypothesis.

In large attribute sample, explain the testing of significance of proportion of

SUCCESSES.
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